Canonbury Home Learning
Steppingstone activity answers
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Equivalence of 2 and a
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o Circle the shapes that have 5 shaded.
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o Tick the groups that have 5 circled.
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Create, discover and succeed together

e Here are two bar models.

a) Colour %u‘l‘ the bar model.
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b) Colour Fl of the bar model.
AW

What do you notice? Talk to a partner.

o Use the sweets to help you answer

@f.-'.-'.c.-'e}.o'.-'.-'.-‘.-'.-'
ai?,“w‘.-‘a‘@‘.-'.d‘.o'.o‘.-‘

@f.-'.-'.-‘?.-'.-'.-'.-'.-‘.-'



Canonbury Home Learning
Year 3 Maths Lesson 33 answers

LO: To find fractions of amounts

Success Criteria:

CANONBUFQ
PRIMARY SCHOOL

Now you try:

a)3/100f20=6
20

A

b) 3/40f12=9
12

A

c)2/30of 18=12
18

A
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Year 3 Maths — Main activity answers

Fractions of a set of objects (2) ___w_ @) 5rett uses o bar model and base 10 to find 2of36

o- Draw counters in the bor models to help you complete eoch 2., [ ] [ ] [ ]
number sentence. \*—) L L |
a) %u‘f 5= | oooL0 | (#lnlalsl® Nulnlelald Use Brett's method to complete the number sentemces.
—_ A
bl 3ofe=| b o= | oo |oo |00 o) 2of63=| 150
| o 3 =
g fof20=| B %% %% %% 22]|%% b gofas=| 36
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o- Match the questions and answers.
%ﬂi-? [ o Kim uses a bor model and place mluecuunterstufind%uf&ﬁ

; 000 000 (000

'Enf 12=17 >< 15 Use Kim's method to complete the number sentences.

3of15=
Fof15=2

a) %ufﬁ: AP

2of20=7 | 10
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How do you know?
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Canonbury Home Learning
a Complete the number sentences.

a) 2of| L5 |[=30

b) 4 of| LD |=30

1 Je=3=10
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To find 3 of 12,

you divide by 4 and then
multiply the answer by 3

To find 3 of 12,
you divide by 3 and then
|'|'iu|.l.l'|l|.|_.| the answer bl_.l 4

Whio is correct? il

How do you know? Show your working.
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Create, dis and succeed together

° Dora, Whitney and Ron each find a froction of 24
using counters.
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a) Who hos the most counters? Show your workings.
%ng w=20 Feaau=lb

Dok

b) How many more cownters does Dora howve thon Whitney?
20-16= 4 n

o Write froctions to maoke the stotements comrect.
.

+|of 36 < 18
b -]

of 36 = 18

b A

of 36 = 18

o

How many different answers con youw find for eoch?



